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MATHS

BOOKS - UNIQUE MATHS (HINGLISH)

PRACTICE FOR SUBQUESTIONS

1 Marks Questions

1. Suppose B={6,12,18,24,30,36}, then n(B)=?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IcNfclITvyfU
https://dl.doubtnut.com/l/_xcmfRMWPEWpZ

2. A={2,4,6} and B={1,2,3,4,5} then write A U B

° Watch Video Solution

3. A={11,12},B={14,15} find AU B = ?

° Watch Video Solution

4. If A ={1,2,3,4} and U={1,2,3,4,5,6,7,8} is universal

set, then write the complement of set A.

o Watch Video Solution



https://dl.doubtnut.com/l/_xcmfRMWPEWpZ
https://dl.doubtnut.com/l/_9FSkZAjCTwxe
https://dl.doubtnut.com/l/_PDI9k8zclPCv
https://dl.doubtnut.com/l/_Y1efwC5QTfOa

5. Write in symbolic form:

X is the element of set A.

o Watch Video Solution

6. If A={3,5,9}, B={5,7,9,11} then show the set A N B

in venn diagram.

° Watch Video Solution

7. Express 36 in decimal form.

° Watch Video Solution



https://dl.doubtnut.com/l/_Y1efwC5QTfOa
https://dl.doubtnut.com/l/_Q2ZyCHXlEJaC
https://dl.doubtnut.com/l/_6rbJkhXmnlFh

8. Find the rational factor of 1/27

° Watch Video Solution

9. Find the value of [4-9

o Watch Video Solution

10. Find the rationalizing factor of /18

o Watch Video Solution



https://dl.doubtnut.com/l/_yXIwIa6fESXb
https://dl.doubtnut.com/l/_InmIcFCrcG9h
https://dl.doubtnut.com/l/_uFnSgdEdRDyn

11. Write the conjugate pair of 7 + /3

° Watch Video Solution

12. Simiplify 10/5 — 7/5 + 3,/

o Watch Video Solution

13. Write the conjugate pair of /3 — /6.

o Watch Video Solution



https://dl.doubtnut.com/l/_qrllGiLAnqnK
https://dl.doubtnut.com/l/_54QxpwMsNbxa
https://dl.doubtnut.com/l/_pNpkK9eFgOxa

14. Write the simplest form of sqrt /150

° Watch Video Solution

15.5./5 + 15,/5 =?

o Watch Video Solution

16. Write whether /225 is surd or not.

o Watch Video Solution



https://dl.doubtnut.com/l/_Gfu8w6qlMvn8
https://dl.doubtnut.com/l/_iCHbAtz6Z3eX
https://dl.doubtnut.com/l/_0lOxyWPNtFDt

17. Write the simplest form of 1/490

° Watch Video Solution

18. Divide and write the answer in simplest form.

V225 + /2

° Watch Video Solution

19. Find the value of |16-2]

o Watch Video Solution



https://dl.doubtnut.com/l/_KhYraBaO0ttN
https://dl.doubtnut.com/l/_DCjG0BXRK5kl
https://dl.doubtnut.com/l/_ZCnVFwRwbDFF
https://dl.doubtnut.com/l/_eZfqBImlI3hf

20. Find the value of |7| x | — 4| x |4 — 9

o Watch Video Solution

21. Classify given pair of surds into like surds and

unlike surds.

5v/22, 7,/33

o Watch Video Solution

22. Classify given pair of surds into like surds and

unlike surds.


https://dl.doubtnut.com/l/_eZfqBImlI3hf
https://dl.doubtnut.com/l/_8tx4xnSbmEGp
https://dl.doubtnut.com/l/_4CSYyRSIFdds

/52, 5./13

o Watch Video Solution

23. Write the given polynomial z* + 3z — 5 in

coefficient form.

° Watch Video Solution

24. Write the (5,2,0,3,2) polynomial in index form by

using y as a variable.

° Watch Video Solution



https://dl.doubtnut.com/l/_4CSYyRSIFdds
https://dl.doubtnut.com/l/_ruZHNKk7fYPh
https://dl.doubtnut.com/l/_AXaenPcejYTC

25. Write the degree of given polynomial.

3z + 52 +2° + 3

° Watch Video Solution

26. Write the polynomial 3m? + 5m® — 8m + 2 in

co-efficient form and also state its degree.

° Watch Video Solution

27. Write the polynomial (5,0,0,0,-1,0) in index form.

o Watch Video Solution



https://dl.doubtnut.com/l/_fQA8gEVpmA7y
https://dl.doubtnut.com/l/_Y7HVHBKZTlJB
https://dl.doubtnut.com/l/_aA5wmiauvQWd

28. Multiply this polynomials z* — 2z + 1 and 2x

o Watch Video Solution

5 3 1 4 2 -
29. —Ty+vy’ + 3y —E—I—Zy —y° write the

polynomials in standard form.

o Watch Video Solution

30. Write the given polynomial in coefficient form :

2
—§m3—5m2—7m—1



https://dl.doubtnut.com/l/_aA5wmiauvQWd
https://dl.doubtnut.com/l/_Z5rIXW5C8fee
https://dl.doubtnut.com/l/_2yhXrOJfbceu
https://dl.doubtnut.com/l/_mq7cPFlDyXRV

| o Watch Video Solution

31. There are 'a' tress in the village. If the number
of trees, increase by 'b' every year, then how many

tress will be there after 'x' years.

° Watch Video Solution

32. For the parade there are y students in each row
and x such rows are formed . Then how many

students are there for the parade in all ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mq7cPFlDyXRV
https://dl.doubtnut.com/l/_kfjHdiU8pFPT
https://dl.doubtnut.com/l/_Ye4lwTUtuSdp

33.1f p(z) = 2° then find p(0)

° Watch Video Solution

34.1f p(z) = z* — 22° — x then find p(-2)

° Watch Video Solution

35. Write the coefficient form (2,0,0,-4) in the index

form using an variables.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ye4lwTUtuSdp
https://dl.doubtnut.com/l/_XVKSNG51lbiy
https://dl.doubtnut.com/l/_9zIeOEW5C5HC
https://dl.doubtnut.com/l/_Gnd7sQFAY1VH

36. Write the coefficient form (3,0,7,0,9,64) in the

index form using an variables.

° Watch Video Solution

37. Comparison of ratios
4 7
9’ 8

o Watch Video Solution

38. Comparison of ratios

VI3 V17
VB V15



https://dl.doubtnut.com/l/_SJtPcY65DKbX
https://dl.doubtnut.com/l/_GUTXo4L44CPr
https://dl.doubtnut.com/l/_kiEupaYVi1c4

° Watch Video Solution

39. What is mean proportion of 4 and 25.

o Watch Video Solution

40.1Fthe & — 2 then find the ratio ~2
R eb—5 en 1mn era|02b

o Watch Video Solution

11 —
41.Ifﬁ:—thenm n:?
n 4 n

° Watch Video Solution



https://dl.doubtnut.com/l/_kiEupaYVi1c4
https://dl.doubtnut.com/l/_dIMSoRSH8fzv
https://dl.doubtnut.com/l/_F4pHhPFJ7q3j
https://dl.doubtnut.com/l/_K3jz57KUjhtL

42.If £:18: : 5: 3 find the value of x

° Watch Video Solution

43. By using x and y as a variable , write two linear

equations in two variables.

o Watch Video Solution

44. If 4z + 3y = 39 and 3x + 4y = 10 then what

is value of x-y ?



https://dl.doubtnut.com/l/_K3jz57KUjhtL
https://dl.doubtnut.com/l/_tKMNZ09FvHV7
https://dl.doubtnut.com/l/_9PU7g2DJJjVd
https://dl.doubtnut.com/l/_Hh2P83X6GL78

‘ ° Watch Video Solution

45.5x + 3y = 6, check whether (0,2) is solution of

this equation .

o Watch Video Solution

46. Write two linear equation in p and q.

° Watch Video Solution



https://dl.doubtnut.com/l/_Hh2P83X6GL78
https://dl.doubtnut.com/l/_EENiC9xi8XL1
https://dl.doubtnut.com/l/_320ua4qguGZT

47. Using variable form the linear equation in two

variables.

° Watch Video Solution

48. Write the solution of the equation x +y =7
and how many solutions can we have for given

equation ?

o Watch Video Solution



https://dl.doubtnut.com/l/_XenMYAgpNXLf
https://dl.doubtnut.com/l/_y4lfIYzuLvng

49. Frame the given linear equation in two variable

: Soham is elder than Sarita by two years.

o Watch Video Solution

50. Ajays age is younger than Vijay by 3 years and
the sum of their ages is 25 years What is Ajay's age

?

o Watch Video Solution



https://dl.doubtnut.com/l/_lnEd25DakdX8
https://dl.doubtnut.com/l/_opgIvovhwtbw

51. Compute the income tax payable by Smt. Safiya
who is 44 years old and has a taxable income is Rs.

5,82,000

o Watch Video Solution

52. Write the dates of start and of a finacical year

in our country.

o Watch Video Solution

53. Write the formula to find compound interest.



https://dl.doubtnut.com/l/_645tcJMfHaA7
https://dl.doubtnut.com/l/_GhZrCF08mavi
https://dl.doubtnut.com/l/_IK3yEIz8IaTU

| ° Watch Video Solution

54. Write the dates of start and of a finacical year

in our country.

o Watch Video Solution

55. Give the full form of PAN

° Watch Video Solution

56. Write the full of GST.



https://dl.doubtnut.com/l/_IK3yEIz8IaTU
https://dl.doubtnut.com/l/_ncvh4x2BqNit
https://dl.doubtnut.com/l/_DdmCuzbyTR5p
https://dl.doubtnut.com/l/_Wqlfk2McddJI

| o Watch Video Solution

57. If person's total yearly income is Rs. 12,00,000
who is 50 years old, then what will be his taxable

income ?

o Watch Video Solution

58. State any two different sources of income on

which an income tax is levied.

o Watch Video Solution



https://dl.doubtnut.com/l/_Wqlfk2McddJI
https://dl.doubtnut.com/l/_m5XrRiKRwuAm
https://dl.doubtnut.com/l/_7ptc0pQro0qt
https://dl.doubtnut.com/l/_fxVh7sVrtq65

59. Write any two sources of various kinds of

savings.

° Watch Video Solution

60. What are different types of taxes and name

them.

o Watch Video Solution

61. What is the taxable income for senior citizen.

° Watch Video Solution



https://dl.doubtnut.com/l/_fxVh7sVrtq65
https://dl.doubtnut.com/l/_ODjwej8DJAah
https://dl.doubtnut.com/l/_BzRT7lYh7Cl7

62. Examples of direct tax (any two)

° Watch Video Solution

63. Examples of indirect tax (any two)

° Watch Video Solution

64. If financial year is 2014-15 then write the

assessment year.

o Watch Video Solution



https://dl.doubtnut.com/l/_P0DMXAMl8nA6
https://dl.doubtnut.com/l/_JVsHReyfcZSi
https://dl.doubtnut.com/l/_i3a12I73bmQx
https://dl.doubtnut.com/l/_8uw24LQNDwpU

65. How much education cess of 2% is levied on

income tax of Rs. 2,00,000 ?

o Watch Video Solution

66. What is investment ?

° Watch Video Solution

67. How much secondary and higher education

cess at 1% is levied on income tax Rs. 50,000

° Watch Video Solution



https://dl.doubtnut.com/l/_8uw24LQNDwpU
https://dl.doubtnut.com/l/_87fYN133cSwJ
https://dl.doubtnut.com/l/_bHmwXObIZp8r

68. Find the mean from following data

25+ 0 +27+23+25 130

[l

5} s}

o Watch Video Solution

69. Without solving find the median

51,60,53,55,57,52,59

° Watch Video Solution

70. Measures of central tendency



https://dl.doubtnut.com/l/_bHmwXObIZp8r
https://dl.doubtnut.com/l/_eX4c3eoBGGbh
https://dl.doubtnut.com/l/_2K5Kb27tHlPV
https://dl.doubtnut.com/l/_rJOKcWz26kYh

| o Watch Video Solution

71.If class mark is 15 and class widht is 10, then find

the class.

° Watch Video Solution

72. Find the class mark of class 21.5 to 25.5

° Watch Video Solution

73. Find class widht of class 10.5 to 15.5



https://dl.doubtnut.com/l/_rJOKcWz26kYh
https://dl.doubtnut.com/l/_IM6NXDJHOpc2
https://dl.doubtnut.com/l/_R0N0DaL7NkJs
https://dl.doubtnut.com/l/_CRpFcbFDYtrJ

| ) Watch Video Solution

74. 35,40,55,45,45,55,60,45,55,60,45,75,65,90. Find

the mode of the class.

o Watch Video Solution

75. Write upper and lower class limit of calss 27.5

to 30.5

° Watch Video Solution



https://dl.doubtnut.com/l/_CRpFcbFDYtrJ
https://dl.doubtnut.com/l/_7H0J93bAq4a3
https://dl.doubtnut.com/l/_dsZfOynTV0lh

76. State the type of data in the given information.
'In village Nandpur, the information collected from
every house regarding student not attending the

school.

o Watch Video Solution

77. State the type of data in the given information .
The information of students was gathered from
the school record and send to the head office, as it

was to be sent urgently.

o Watch Video Solution



https://dl.doubtnut.com/l/_fH3hNwMr6c4H
https://dl.doubtnut.com/l/_0fnlcRNAh8Sp

78. Find the median :59,68,70,74,75,75,80

° Watch Video Solution

79. Find mode : 19,19,5,20,25,15,20,15

o Watch Video Solution

2 Marks Questions


https://dl.doubtnut.com/l/_0fnlcRNAh8Sp
https://dl.doubtnut.com/l/_R3FhR9QyOkLI
https://dl.doubtnut.com/l/_t8M7XfaP3ano

1. If n(A)=15,n(A U B) = 29, n(A N B) = 7 then

n(B)=?

° Watch Video Solution

2. A={1,2,3,4,5,6,7,8}
B={2,4,6,8}

Represent set A and B in Venn diagram

° Watch Video Solution



https://dl.doubtnut.com/l/_6IsoDlZdcmFA
https://dl.doubtnut.com/l/_VZqfwAkqzFRN

3. Given : n(A) =5,(B) =6,n(AUB) =9 for
calculation of n(A N B) . Complete the activity.

n(ANB) = n(A) +n(B) — O

=5+ 0 -9
-0 -9
n(ANB) =01

o Watch Video Solution

4. Multiply and write in simplest form.

3v/12 x 7,/15

° Watch Video Solution



https://dl.doubtnut.com/l/_A79zw4x1JxTQ
https://dl.doubtnut.com/l/_jZtTFfWDtTPM

5.Solve :‘5 + %‘ =5

° Watch Video Solution

6. Simplify : /50 — /98

o Watch Video Solution

2
7.Rationalize :——

V5

° Watch Video Solution



https://dl.doubtnut.com/l/_jZtTFfWDtTPM
https://dl.doubtnut.com/l/_gEeEMWPZJDE2
https://dl.doubtnut.com/l/_r6Gq0DrGDeya
https://dl.doubtnut.com/l/_6NEB56aMYhw2
https://dl.doubtnut.com/l/_ZZAZccq8vy1D

8. Convert 0.18 in 4 form.
q

° Watch Video Solution

9. Write the value of,

115 x 3 — (7 x 2) x 4|

o Watch Video Solution

10. Write the solution of 5

m__

4

5 ‘ 3

o Watch Video Solution



https://dl.doubtnut.com/l/_ZZAZccq8vy1D
https://dl.doubtnut.com/l/_MTn1nTPUbSfo
https://dl.doubtnut.com/l/_7pdqcEufFgba
https://dl.doubtnut.com/l/_YIwuMxNSMof1

11.84/5 + /20 — /125

o Watch Video Solution

12. Rationalize the denominator
1 1 3

V3—-v2 32" 3

o Watch Video Solution

8. (3v2 — v3) (4V3 — V2)

o Watch Video Solution



https://dl.doubtnut.com/l/_YIwuMxNSMof1
https://dl.doubtnut.com/l/_lEQ4lJYq8E2F
https://dl.doubtnut.com/l/_JtkafXH2jypw
https://dl.doubtnut.com/l/_v6DVr5muSkoz

14. Multiply :

(V5= VT7)v2

° Watch Video Solution

15. Write any three rational numbers between

—2 and 0.

° Watch Video Solution

16. Express as rupees using decimal

536 paise

| &


https://dl.doubtnut.com/l/_v6DVr5muSkoz
https://dl.doubtnut.com/l/_Z6WT9UL8SbRc
https://dl.doubtnut.com/l/_s9yebgkahazo

| W Watch Video Solution

17. Express as rupees using decimal

5 paise

o Watch Video Solution

18. Arrange the rational numbers in ascending

order.
-3 7 -5
57’ —10° 6

o Watch Video Solution



https://dl.doubtnut.com/l/_s9yebgkahazo
https://dl.doubtnut.com/l/_oKcEuTZy3ouQ
https://dl.doubtnut.com/l/_Ortm4sAqBepL
https://dl.doubtnut.com/l/_TNPSxfzKO3tT

19. Arrange the rational numbers in ascending

order
2 3 5 —7
3’4767 1

Watch Video Solution

v

20. If side of triangles are
b—2a+ 2c,a+ 3b—3c and 2a — b+ c , then

find the perimeter .

o Watch Video Solution



https://dl.doubtnut.com/l/_TNPSxfzKO3tT
https://dl.doubtnut.com/l/_cNww8BtgPFp8

21. Multiply :

w2—2,:c3—|—2:c2—|—1

° Watch Video Solution

22. Find the value of p(z) = 2z® — 3z + 5 when

X=2

° Watch Video Solution

23. Solve

(5m2 + 3m — 4) + (3m2 + 5m + 7) — (2m2 — 4m)

[ 1


https://dl.doubtnut.com/l/_4KHGjPC12BKE
https://dl.doubtnut.com/l/_jaaSnrX1Wjwd
https://dl.doubtnut.com/l/_j4cWv1r9Qe30

| ° Watch Video Solution

24. Find the value of p(y) = 2y® — 2y + /27 for

y=3

o Watch Video Solution

25. Add the polynomial

> —2x —9,52° — 2z — 9

o Watch Video Solution



https://dl.doubtnut.com/l/_j4cWv1r9Qe30
https://dl.doubtnut.com/l/_GsdvbZE3ciID
https://dl.doubtnut.com/l/_mPtnMr7bScVN

26. Subtract the polynomial 2z + 3z, from

522 + 4z — 3

° Watch Video Solution

27. Find the factors of polynomial

202+ — 1

° Watch Video Solution

28. Find the factors of polynomial

3y? — 2y — 1



https://dl.doubtnut.com/l/_h9rehJIBIYfq
https://dl.doubtnut.com/l/_zkGQWbI97lTG
https://dl.doubtnut.com/l/_f9bsHjiuGAzD

| o Watch Video Solution

29. Which polynomials should be added to

z? — 5z + 3 to get the polynomial 222 + 3z — 5

o Watch Video Solution

30. There are 'y' a mango trees in each row in an
orchard. If there 'x' rows, then how many mango

trees in all are there in the orchard.

o Watch Video Solution



https://dl.doubtnut.com/l/_f9bsHjiuGAzD
https://dl.doubtnut.com/l/_6GPG7C9lEyaM
https://dl.doubtnut.com/l/_dp8Hfxm4rcbZ
https://dl.doubtnut.com/l/_IDaOsFX7JsYi

31.62° + 5z — 6

o Watch Video Solution

32.Find the third proportional to 9 and 12.

° Watch Video Solution

.7
33. Convert the ratio 3 In percentage:

o Watch Video Solution



https://dl.doubtnut.com/l/_IDaOsFX7JsYi
https://dl.doubtnut.com/l/_34wJSfrihHHd
https://dl.doubtnut.com/l/_7MavtgsJrbFV

34. Fill in the blanks
T Y T+y 3z + dy

5 3 O [l

° Watch Video Solution

° Watch Video Solution

5)
36. If 4 = - then



https://dl.doubtnut.com/l/_zdVZRp9LsXeF
https://dl.doubtnut.com/l/_7Vko7fuFdQDl
https://dl.doubtnut.com/l/_nUoaGZc6F3Sx

° Watch Video Solution

a 7 . a+T7b
37.If > =3 then find the ratio 7

o Watch Video Solution

38. What is ratio of perimeter of circle and area of

circle if radius is 7 cm.

o Watch Video Solution

5 _
39. % = 9 find values of :—_j;



https://dl.doubtnut.com/l/_nUoaGZc6F3Sx
https://dl.doubtnut.com/l/_uYMj11q3eC23
https://dl.doubtnut.com/l/_fl6eavxT286V
https://dl.doubtnut.com/l/_68AbwpS33a17

o Watch Video Solution

40. Measures of angle of triangle are in ratio 1:1:2 .

What are values of all the angles ?

o Watch Video Solution

41. If ratio of your marks in English first unit test
and second unit test is 2:3 , if test paper is of 30

marks. Then find marks in both test separately.

o Watch Video Solution



https://dl.doubtnut.com/l/_68AbwpS33a17
https://dl.doubtnut.com/l/_dZWyyBIslfG4
https://dl.doubtnut.com/l/_ct8ruc0Cljwo
https://dl.doubtnut.com/l/_NvSop5hcM8vy

42.Three person can build a small house in 8 days
to build the same house in 6 days, how many

person are required ,

o Watch Video Solution

43. 24 bananas were distributed between Shubham
and Anil in the ratio 3:5, then how many bananas

did Shubham get ?

o Watch Video Solution



https://dl.doubtnut.com/l/_NvSop5hcM8vy
https://dl.doubtnut.com/l/_K7CvMVp1wEXG

44, ab,c are in continued proportion , if a=3 and

c=27 then find b.

° Watch Video Solution

45, Compare the pair of the ratios :
9.2 34

51° 7

° Watch Video Solution

46. Compare the pair of the ratios :

5 17
187 21

[ 1


https://dl.doubtnut.com/l/_58Tr689iHxqL
https://dl.doubtnut.com/l/_R8CjLeCoDltm
https://dl.doubtnut.com/l/_YMstkPZJnULx

| ° Watch Video Solution

47. 1f 2 zg then write its componendo and

b

dividendo form.

o Watch Video Solution

5 3 4
48. If m = — then find values m
n 2 3m — 4n

° Watch Video Solution

a 2 b
49.If — = — then find the values of —
b 3 a



https://dl.doubtnut.com/l/_YMstkPZJnULx
https://dl.doubtnut.com/l/_IYyDOXJwvips
https://dl.doubtnut.com/l/_hf547KNJJa3j
https://dl.doubtnut.com/l/_9KcLdoqw4eAg

| ° Watch Video Solution

2
50. If a_z then find the values of M
b 3 3b

o Watch Video Solution

51. The cost of an eraser is 80 paise and the cost of
pencile is rupees 2 what is the ratio of their cost in

simplest form.

° Watch Video Solution



https://dl.doubtnut.com/l/_9KcLdoqw4eAg
https://dl.doubtnut.com/l/_ONeMVm7XFMqj
https://dl.doubtnut.com/l/_FQWPqitd98FD

1

1
52. Express 83 : 6Z into percentage

° Watch Video Solution

53. Express 8.5: 10 into percentage

o Watch Video Solution

54.3z + 5y =9and4x + 3y = Tthenfindz + y

o Watch Video Solution



https://dl.doubtnut.com/l/_tWrsiozG5AJw
https://dl.doubtnut.com/l/_a5R1vNE8pmP5
https://dl.doubtnut.com/l/_cKxqRpmx7rih

55.Solve 1z +y =14, —y = 2

° Watch Video Solution

56. The sum of two numbers is 42 and their

difference is 16. Write the equations .

° Watch Video Solution

57.In equation 8z 4 3y = 11, put y = 3=z — 2 and

find the values of x and y.

o Watch Video Solution



https://dl.doubtnut.com/l/_io8WlqnxhMJL
https://dl.doubtnut.com/l/_RA04JWWeGRj2
https://dl.doubtnut.com/l/_6l2zUDyywf30

58. In equation 3z —4y =7 and 5z + 3y =3

make the coefficient of x equal .

o Watch Video Solution

59. Solve :

m -+ 2n =7 and 2m + 2n = 10

° Watch Video Solution



https://dl.doubtnut.com/l/_6l2zUDyywf30
https://dl.doubtnut.com/l/_OgeIZv3CUArN
https://dl.doubtnut.com/l/_oERj9ImTmZrJ

60. In
AABC, m/ZA = m/ZB = x and mZC = y, also

x + y = 90 then find LA

o Watch Video Solution

61. Length of a rectangle is more than 5 by its
breadth and preimeter s 16 cm, then find length

and breadth of the reactangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_5LSr4pk4QUVi
https://dl.doubtnut.com/l/_0A4Zlvo44tMu

62.3x — 4y = 7 What is the value of x ?

° Watch Video Solution

63.5x + 4y = 17 What is the value of x ?

o Watch Video Solution

64.2x —Ty="7
y = 3z + 22
solve by substitution method and find the value of

X?



https://dl.doubtnut.com/l/_0fyssviancpF
https://dl.doubtnut.com/l/_8awA98ovjZO4
https://dl.doubtnut.com/l/_8OGdZftaFV37

| ° Watch Video Solution

65. In Rhombus adjacent angles are in ratio 4:5.

Find greater angle.

o Watch Video Solution

66. Write any two linear equation and find only one

unknown by elimination method.

° Watch Video Solution



https://dl.doubtnut.com/l/_8OGdZftaFV37
https://dl.doubtnut.com/l/_83ocf3YD1pNU
https://dl.doubtnut.com/l/_OjOPVQ9a93tP

67. Complete the following table

Person Age Taxable income
(i) Ram 25 2,34,400
(ii) Rahim 50  5,34,000

o Watch Video Solution

68. If Ramesh's annual income is Rs 3000. He
spends 90% of his income, then find his total

savings ?

o Watch Video Solution



https://dl.doubtnut.com/l/_7BcAfCC6CzVX
https://dl.doubtnut.com/l/_sVI1mKLyyUlL

69. Is income tax applicatble for income upto Rs.
2,50,000 . How many income tax is payable for
income slabs from 25,000 to 5,00,000 . Also write
the percentage of education cess, secondary and

higher secondary eduation cess ?

o Watch Video Solution

70. Distinguish between direct tax and indirect tax.

° Watch Video Solution



https://dl.doubtnut.com/l/_8JMcWFwN8rw5
https://dl.doubtnut.com/l/_KXmfMceAg3LK

71. Write the uses of PAN card

° Watch Video Solution

72. Write any four main heads of income for

computation of income tax.

o Watch Video Solution

73. Mr. Mulay's annual income is 3,00,000 rupees.
He pays 30,000 for tax. If total cess is 3% then

what is his total tax ?



https://dl.doubtnut.com/l/_r6JKLVJCrlhY
https://dl.doubtnut.com/l/_Y0rQsLT4CK72
https://dl.doubtnut.com/l/_jStHqOZHX128

| ° Watch Video Solution

74. Rewa spends 75% of her income and saves Rs.

2000 per month. What is her monthly income ?

o Watch Video Solution

75. How much education cess is payable on the

income tax of Rs. 12,000 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_jStHqOZHX128
https://dl.doubtnut.com/l/_mrK28apcE82s
https://dl.doubtnut.com/l/_eLi9EDpb59W1

76. Sumedh invested Rs. 25,000 in mutual fund. He

got Rs. 26,000 after 1 yr. Find out percentage gain

?

o Watch Video Solution

77. Miss Varsha is 26 years old and her taxable

income is Rs. 2,30,000. What income tax does she

pay ?

° Watch Video Solution



https://dl.doubtnut.com/l/_jAKStP85cM13
https://dl.doubtnut.com/l/_UuBShxisBKC0

78. Mean of 5 numbers is 50. Out of which mean of

4 numbers is 46, then the 5" number.

o Watch Video Solution

79. Find mode :90,55,67,55,75,75,40,35,55,95

o Watch Video Solution

80. Following 10 observations are arranged in
ascending order.

2,3,5,9 = + 13,14, 16, 19, 20 .


https://dl.doubtnut.com/l/_mXtSFUWuvqS4
https://dl.doubtnut.com/l/_C0Xcty2DcMCU
https://dl.doubtnut.com/l/_AfLty1d55unY

If the median of the data is 11, then find the value

of x.

o Watch Video Solution

81. The marks (out of 100) obtained by you in 6

class test are 99,100,95,60,70,90 find median .

° Watch Video Solution

82. If class marks is 20 and class width is 6. Find the

class.

° Watch Video Solution



https://dl.doubtnut.com/l/_AfLty1d55unY
https://dl.doubtnut.com/l/_sF5vNAENvuXY
https://dl.doubtnut.com/l/_TKCfHjNRE1p5

83. Z fi;x; = 900. Total observation is a 45. What

is X ?

° Watch Video Solution

84. The mean of the five numbers is 50 out of
which the mean of the 4 numbers is 46, find the

fifth number ?

o Watch Video Solution



https://dl.doubtnut.com/l/_TKCfHjNRE1p5
https://dl.doubtnut.com/l/_0GdoQ2Bg6HxF
https://dl.doubtnut.com/l/_RzKUI3AMo8zA

85. The weight of 10 students in kg is given below
then find mode :

40, 35, 42, 43, 37, 35, 37, 37, 42, 37

o Watch Video Solution



https://dl.doubtnut.com/l/_LaSfsmQhNm84

